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~ GOOD LUCK! ~
Question 1 [8 points]: What will be printed by the following program?

integer function fun(n)

integer n


if (mod(n,2).eq.0) then


fun=n+1


else


fun=n-1


endif


return


end


integer a(6),i,fun


read *, (a(i),i=1,6)


do 10 i=1,6


print *, fun(a(i))

10     continue


end

Assume the input for the program is:

4, 11, 9, 18, 33, 19
Question 2 [6 points]:What will be printed by the following program?
      CHARACTER TEXT*5

      X = 9.516

      M = 249
      TEXT= 'ICS'

      PRINT 10, X, TEXT,M

10    FORMAT (1X, F7.3, A, I2)

      PRINT 20, M, 'FINAL', X

20    FORMAT ('0', I5, A7, F5.2)

      PRINT 30, TEXT, X, M

30    FORMAT (' ', A2, 2X,F6.4,1X,I3)

END
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Question 3 [6 points]: Complete the following program in order to get the required output.


  INTEGER Y


  REAL X


  X = 30.9851


Y = 32


  PRINT 6, X, X, Y, X + Y

6
FORMAT(' ',F3.0,F7.1,I3,1x,'AND',F11.5)

  END

The required output is:
	3
	1
	.
	
	
	
	3
	1
	.
	0
	
	3
	2
	
	A
	N
	D
	
	
	
	6
	2
	.
	9
	8
	5
	1
	0


Question 4 [12 points]: Given a data file 'INPUT.DAT' that contains unknown number of lines. Each line has a student ID and his grade. The following program reads the data from the above file and writes to a new file 'OUTPUT.DAT'in each line the ID and the grade of each student whose grade is greater than the average. At the end, the program closes the files.

  REAL GRADE, SUM, AVG


  INTEGER ID, COUNT, K


OPEN (UNIT = 20, FILE = 'INPUT.DAT', STATUS = 'OLD')

OPEN (UNIT = 21, FILE = 'OUTPUT.DAT', STATUS = 'UNKNOWN')
       SUM = 0.0  

       COUNT = 0

 44     READ (20, *, END = 100) ID, GRADE        
      SUM = SUM + GRADE

         COUNT= COUNT+ 1

         GOTO 44

100    AVG = SUM/ COUNT


  REWIND (20)
       DO 50 K = 1, COUNT

           READ (20, *) ID, GRADE


   IF (GRADE. GT. AVG) WRITE (21, *) ID, GRADE
50     CONTINUE


   Close (20)

   Close (21)
        END

Question 5 [8 points]: What will be printed by the following program?



integer A(10), I, S


  s=0


  read *, (A(i),i=1,10)


  i=2


  do while (i.LE.10)


    IF (a(i) .gt. A(i-1)) then 


        print *, A (i)


    else


        s=s+1


    end if


    i=i+1


  end do


  print *, s


  end 

Assume the input is:

8, 4, 2, 1, 9, 7, 3, 6, 5, 21

Question 6 [8 points]: The following program reads two 2-dimentional arrays of size 2x2 and calls a subroutine that adds the two arrays into a third 2-dimentional array. Complete the missing parts.
      SUBROUTINE   ADD(A, B, C)
      INTEGERA(2,2), B(2,2), C(2,2), j, k


DO 33 J = 1, 2



  DO 22 K = 1, 2




C(J,K) = A(J,K) + B(J,K)

22

  CONTINUE

33 
  CONTINUE


  RETURN


  END


  INTEGER X(2,2), Y(2,2), Z(2,2)


  READ*, X, Y


  CALL ADD (X, Y, Z)

  PRINT*, Z


  END

Question 7 [6 points]: What will be printed by the following program?

integer K,j


  do 10 J =5,2,-2



print *,(J - K, K =3,12, J)

10     continue


  end

Answer:

2    -3
0    -3     -6      -9
Question 8 [8 points]: What is the output of the following program:

  INTEGER A(3, 3), MIN, J, K


  READ*, ((A(K, J), J = 1, 3), K = 1, 3)


MIN = A(1, 1)


  DO 3 K = 1, 3


    DO 3 J = 1, 3

IF (A(K, J) .LT. MIN)  THEN


MIN = A(K, J)


      ENDIF

3  
  CONTINUE



  DO 4 K = 1, 3


    DO 4 J = 1, 3


A(K, J) = A(K, J) - MIN

4      CONTINUE


  PRINT*, ((A(K, J), J = 1, 3), K = 1, 3)


  END

Assume the input is:


21   12   15   11   20   25   18   23   11 
Answer:

10    1    4    0    9    14    7    12    0
Question 9 [12 points]: A car selling company sells 4 car models in each of its 3 shops.  The current car stock for the company is:

	 
	Model 1
	Model 2
	Model 3
	Model 4

	Shop 1
	5
	7
	3
	0

	Shop 2
	2
	6
	4
	8

	Shop 3
	3
	12
	10
	5


Complete the following program so that it reads the stock data into a 2-D array STOCK3x4 row-wise.  The program then computes the total number of cars in each shop and stores the totals in 1-D array SHOP. The program then prints the totals for each shop. Complete the missing parts.


  INTEGER I, J, SHOP(3),STOCK(3,4)

  PRINT *,'ENTER STOCK DATA ROW-WISE'


Do 8 J = 1, 3


READ *, ((STOCK(J,k),K=1,4))
8    CONTINUE

  DO 20 J=1,3


    SHOP(J)=0


    DO 10 K=1,4


   SHOP(J)=SHOP(J)+STOCK(J,K)
10       CONTINUE

20     CONTINUE

       PRINT *,'        SHOP    NUMBER OF CARS'


  DO 30 J= 1, 3

         PRINT *, I, SHOP(J)
30    CONTINUE

  END
Question 10 [6 points]: The following program calculates the summation:
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Complete Missing parts.


  REAL SUM


  INTEGER K


SUM = 0


  DO 10 K = 1, 100


  SUM = SUM + (-1) ** K * 5.0 * k / (K + 1)
10
  CONTINUE


  PRINT*, SUM


  END

Question 11 [12 points]: The following FORTRAN function IDENT receives two 1-D arrays A and B. Each array contains N values.  If the 2 arrays contain the same values in the same order, it returns .TRUE., otherwise it returns .FALSE.. Complete the missing parts.

    LOGICAL FUNCTION IDENT(A, B, N)

  INTEGER n, A(N), B(N), I







IDENT=.TRUE.


  I = 1







  DO WHILE ( ident .AND.  i.le.n )





  IF (A(I).NE.B(I)) THEN

 
      IDENT=.FALSE.


  ELSE








      i=i+1


  ENDIF


  END DO


  RETURN


  END

Question 12 [8 points]: What will be printed by the following program?

subroutine fun (a,b,n)


  integer n,a(n),b(n),k


k=n


  do 10 i=1,n


b(k)=a(i)

10
    k=k-1

       return


  end


  integer a(6),b(6),i


  read *, (b(i),i=1,6)


  call fun (b,a,6)


  print *,(a(i),i=1,6)


  end

Assume the input for the program is:

2, 9, 8, 7, 4, 3
Answer:
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3      4      7      8      9     2
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